TM7FEIREFNE (9 AER) SHFE

A B 1 = =H
8A18H | A |EEIBR-FERRHE (13:30)
8E19E | % g?&%i?é’rﬁéﬁ% (10:00) . MBEEZEWES (13:30)

EHlEETR

8H208 | XK
8A218 | K |—REMBEEZEMHEY (13:00)
sA2a | & | o0, e EHEAEE
8H23H | £ |1AH
8A248 | B |#kR
8A25H | A |[28HESR (10:00), ZEBME. BXEHAR. LRLREER
88268 | X
8H278 | XK
8H28H | K
8A298 | £ |ARE (51H) (10:00) [{Z2ZFREA. —&BERIR] 18
8A308 | L |#kA 28
8A318 | B |#kA 38
9A18 | A |h= 48
9A28 | X K=& ($F28) (10:.00) [—#ERH] 5H
9A38 | K |X&HE (£3H) (1000) [—#RER., B, EELTEHE) 68
9A48 | K [h& 7H
9A58 | ® |k 8H
9A6R | * |#AH 9@
9A78 | B |#AH 108
9A8H | A [{TEGEHEMES (51 8) (9:00) 118
9A98 | X [{TEGEHEMER (852H) (9:00) 128
98108 | K |k 1380
9ANE | K | XHELEZES (10:00), RIFEEXFTE S (13:30) 148
9A128 | £ |FPEREZE= ($1H) [#HIE](10:00) 158
9A138 | £ [tkB 168
9A148 | B |tkB 178
9A158 | A |EDH 188
9A168 | X |#hA& 198
9R178 | K k= 208
9A18H | K [PEREZER (82H)[IRE] (10:00) 218
9A198 | & |FHEHREZESR (E3H)[RHE] (10:00) 22H
9A208 | £ [tkB 23H
9A218 | B |tkB 24H
9R228 | A |[h= 2580
9A238 | X |FkH2DH 26H
9A248 | K |BREEZRESR (10:00), EREEZEHES 2785
9258 | K |[h= 28H
0H268 | & |F=H ($48 &#A) (10:00) [EERME. EEE. 558, FiR] 298

AER TR EESBHE. LRLEHEEES




